C2 CHAPTER 10

TRIGONOMETRICAL IDENTITIES and SIMPLE EQUATIONS

PYTHAGOREAN IDENTITY
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You may need to simplify expressions:
Example 1
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You may need to prove formulae:
Example 2
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[Note:

Best method is to work from LHS to the RHS (or vice-versa)]

You may need to express trig ratios in fractional form:
Example 3
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Work with the related acute angle
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You may need to eliminate θ to find equations connecting x & y:
Example 4
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Ex 10A

SOLVING TRIG EQUATIONS

You can either use a sketch of the appropriate trig graph or the “CAST” diagram:

Example 1
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Calculator gives θ = 120°
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Alternatively:
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Example 2
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You may wish to remember these:
(but there is no need to!)
Ex 10B

TRIG EQUATIONS INVOLVING MULTIPLES ANGLES

Example 1
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For equations involving the values ±1 or 0, it is usually quicker to use a sketch graph:

Example 2
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Ex 10C

QUADRATIC TRIG EQUATIONS
Example
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Ex 10D
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